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Materials
For this paper you must have:

a 12-page answer booklet.

Instructions

Use black ink or black ball-point pen.

Write the information required on the front of your answer book.

There are two sections:

- Section A: Learning language

- Section B: International English.

Answer either Question 1 or Question 2 from Section A and either Question 3 or Question 4 from
Section B.

Do all rough work in your answer book. Cross through any work that you do not want to be marked.

Information

The maximum mark for this paper is 50.

The marks for questions are shown in brackets.

There are 25 marks for Section A and 25 marks for Section B.
You will be marked on your ability to:

— use good English

— organise information clearly

— use specialist vocabulary where appropriate.
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Section A: Learning language

Answer one question from this section.

Either
Question 1
01 “Children’s spoken language development is all about understanding what words
mean and then putting them in the right order.” To what extent do you agree with this
view?
In your answer, you should refer to Data Set 1 and Data Set 2 and to relevant ideas
from language study.
[25 marks]
Data Set 1

Context: child (C) talking with mother (M) while doing a colouring book together. The child is 3
years 2 months old.

Transcription key:

? indicates rising question intonation

bold indicates emphatic stress

() indicates short pause of less than a second

M  Where’s the doggie going?
C He going in house

M That's his kennel

C Kennel?

M  Yes that's a dog's house

C  Akennel adog's house?

M  Yes that's right

C | colouring the kennel

M  What colour is that?

C Brown

M And look (.) what's this over here?
C A mouse

M No that’s a rabbit

C A rabbit

M  Yes look at its big ears

C Do rabbit live in kennel too?
M No rabbits live in rabbit holes
C Like mouse?

Turn over for Data Set 2




Data Set 2

Context: the same child’s utterances over a two year period. Ages are shown as (years; months).

The different contexts to the utterances are also provided.

Transcription key:
? indicates rising question intonation

Asking questions to parents
What that? (2;0)

Where we going? (2;1)

Why they doing that? (2;2)

Describing own actions to parents/siblings
| running so fast (2;2)
| falled over (2;2)

Describing actions and events as he plays with toys
The dragon just flied off (2;5)

This soldier’s sad because he been got by the baddies (3;4)

This one’s been catched by the dragon (3;8)

Source for Data Set 1 and 2: Private data

Turn over for the next question

Turn over »



0]2] “A child’s age is the main factor in the quality of writing that he or she produces.” To

what extent do you agree with this claim?

In your answer, you should refer to Data Set 3 and Data Set 4 and to relevant ideas

from language study.

Data Set 3

[25 marks]

This is writing produced at school by a 7-year-old girl. She is writing about her favourite day.

Transliteration:

My Favourite day 17"
| went to my oLd freinds house

We playd mums and dad. | was the mum m then we had ashak*.

Then we went to the Park
And we plaed on-

EEquipment then we went to a ea cafeay to have Lunch then we went home.

(* a milkshake)

Turn over for Data Set 4




Data Set 4

This is writing produced at school by an 11-year-old boy. He has been told to write imaginatively
about the classroom he is in.

Prebpaet M}r QO weod classreem
Srvpaakg
poment Fmeea )y The gLoss wolk leoks Upen Me as T sk én
?J /Une, jreg , ancvene rom ,bthe  éechg ‘{f th e 5-'0‘(#’*’({1—
! }\usp»@r'\ patients screca.m\'nj Anch cie QnCJ Bove dlom
/-Sf;retches jur‘ anch whwdke&across bhg \;lue flcor
:};}"\ ancl  bouaces c& Ehe smotr bl wwodds -

}I,.fu"‘?bl Bﬁom L. The prisen cell locareck at the j&r endl
e - o_j the cocrdor, V) &he daris anoh Smellg earner
c_pj the ."lcx;m tk ha » —Wnr{; criminald’ st Cn
silence Smck\‘q their owon amusement ? v
oixopp-.n p-er‘?S_-l rollan pens nc) Btcxn\qrm‘n -
their Rue ¢-Earine 5‘5 ~Lae LC&rI e hand, evecr

{€achin aCross EH\@_ boe ek, (Co mm' Grer bhe
“{childegn gs bney  scweat cnad  dlimper. A lmﬁe
i b

e Jacoden  door micks bhe ¢scape O bthne worbherin

\ d 'nc:\?@_ thakb one d@\cj Ehe heat. vl ecacl encal thel

Sentences oren

Source: Private data

Turn over »



Turn over for Section B




Section B: International English

Answer one question from this section.

Either
0]3] “The main reason for the use of English around the world is the movement of
people.” How far do you agree with this view?
In your answer, you should refer to relevant ideas from language study.
[25 marks]
or
04| How far do you agree that all varieties of International English should be equally
valued?
In your answer, you should refer to relevant ideas from language study.
[25 marks]

END OF QUESTIONS
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